Porter, Banks, Baldwin & Shaw, PLLC

327 MAIN STREET P.O. DRAWER 1767 PAINTSVILLE, KY 41240 TAX ID#81-4822291

July 12, 2021 S00020-00001 54446

CHENOWETH, GRANT

SPENCER COUNTY BOARD OF EDUCATION 207 W. MAIN STREET TAYLORSVILLE, KY 40071 chuck.abell@spencer.kyschools.us

terry.smith@spencer.kyschools.us

SPENCER COUNTY BOARD OF EDUCATION - GENERAL MATTERS

PROFESSIONAL SERVICES

06 01 2021	GC	REVIEW EMAILS FROM D. THOMAS WITH STUDENT RECORD REQUEST AND DISABILITY INSURANCE INQUIRY	0.20 hrs @ 150	/hr	30.00
06 02 2021	GC	TELE. CALL FROM D. THOMAS RE SUBPOENA FOR STUDENT'S RECORDS, RELEASE REGARDING 2ND STUDENT'S RECORDS, TWO CLASSIFIED EMPLOYEE DISCIPLINE ISSUES, AND ONE PERSONNEL LEAVE ISSUE	0.70 hrs @ 150	/hr	105.00
06 03 2021	GC	REVIEW EMAILS FROM D. THOMAS RE FOLLOW-UP ON FORMER EMPLOYEE'S RECORD REQUEST FOR PERSONNEL FILES AND RE PERSONNEL ISSUES	0.20 hrs @ 150	/hr	30.00
06 03 2021	GC	REVIEW DISTRICT-WIDE EMAIL FROM ACTING SUPT. ABELL	0.10 hrs @ 150	/hr	15.00
06 03 2021	GC	REVIEW RESOURCES RE BUS DRIVER CONDUCT/SAFETY REQUIREMENTS	0.20 hrs @ 150	/hr	30.00
06 04 2021	GC	PREPARE EMAIL TO D. THOMAS RE EMPLOYEE'S REQUEST TO REVIEW PORTION OF HER PERSONNEL FILE WHICH WAS PRODUCED IN RESPONSE TO RECORD REQUEST	0.10 hrs @ 150	/hr	15.00
06 04 2021	GC	REVIEW CORRESPONDENCE AND COURT	0.30 hrs @ 150	/hr	45.00

S00020 - 00001

000020	- 00001				
		FILINGS FROM ATTY. JACKSON RE STATUS OF LITIGATION BY FORMER EMPLOYEE			
06 06 2021	GC	REVIEW EMAIL FROM D. THOMAS RE DISCOVERY IN PENDING LITIGATION	0.10 hrs @ 150	/hr	15.00
06 07 2021	GC	REVIEW DRAFT AGENDA FROM M. BARLOW	0.10 hrs @ 150	/hr	15.00
06 07 2021	GC	REVIEW EMAIL FROM D. THOMAS WITH INFORMATION RE REQUEST FOR STUDENT RECORDS	0.10 hrs @ 150	/hr	15.00
06 08 2021	GC	PREPARE EXTRA SERVICE CONTRACT FOR ACTING SUPERINTENDENT	0.30 hrs @ 150	/hr	45.00
06 08 2021	GC	EXCHANGE CORRESPONDENCE WITH BD. CHAIR SHELBURNE RE COMPENSATION FOR PERFORMANCE OF ACTING SUPERINTENDENT DUTIES	0.10 hrs @ 150	/hr	15.00
06 08 2021	GC	EXCHANGE EMAILS WITH D. THOMAS RE RECORD REQUEST FOR HISTORICAL BID TABULATION INFORMATION	0.10 hrs @ 150	/hr	15.00
06 09 2021	GC	EXCHANGE CORRESPONDENCE WITH BOARD CHAIR SHELBURNE RE AGENDA FOR SPECIAL MEETING	0.20 hrs @ 150	/hr	30.00
06 09 2021	GC	EXCHANGE CORRESPONDENCE WITH BOARD CHAIR SHELBURNE RE COMPENSATION FOR EXTRA SERVICES	0.10 hrs @ 150	/hr	15.00
06 09 2021	GC	EXCHANGE CORRESPONDENCE WITH D. THOMAS RE RECORD REQUEST FOR MUNIS REPORTS	0.20 hrs @ 150	/hr	30.00
06 09 2021	GC	TELE. CALL FROM DR. SHELBURNE TO DISCUSS NECESSARY AGENDA ITEMS FOR REMAINDER OF JUNE	0.60 hrs @ 150	/hr	90.00
06 10 2021	GC	REVISE AGENDA FOR 6/14 MEETING AND PREPARE EMAIL TO M. BARLOW	0.30 hrs @ 150	/hr	45.00
06 10 2021	GC	REVIEW REPLY BRIEF FILED ON BEHALF OF BOARD OF EDUCATION IN SUPPORT OF MOTION TO DISMISS	0.20 hrs @ 150	/hr	30.00
06 11 2021	GC	EXCHANGE EMAILS WITH D. THOMAS RE STATUS OF MULTIPLE PERSONNEL AND RECORDS MATTERS	0.20 hrs @ 150	/hr	30.00

SPENO S00020		ARD OF EDUCATION 01			3
06 11 2	2021 GC	PREPARE TERMINATION LETTER RE CLASSIFIED EMPLOYEE	0.30 hrs @ 150	/hr	45.00
06 11 2	2021 GC	PREPARE CORRESPONDENCE TO ATTORNEY RE HIPAA RELEASE AND STUDENT RECORD REQUEST	0.20 hrs @ 150	/hr	30.00
06 11 2	2021 GC	PREPARE CORRESPONDENCE TO D. THOMAS RE LONG TERM DISABILITY ISSUE	0.20 hrs @ 150	/hr	30.00
06 11 2	2021 GC	REVIEW EMAIL FROM DR. SHELBURNE FOLLOWING-UP ON PHONE CALL	0.10 hrs @ 150	/hr	15.00
06 11 2	2021 GC	EXCHANGE CORRESPONDENCE WITH ATTY. CASSIDY RE STATUS OF PERSONNEL MATTER RELATING TO LITIGANT AND RE STATUS OF LITIGATION DISCOVERY	0.20 hrs @ 150	/hr	30.00
06 14 2	:021 GC	REVIEW EMAIL FROM D. THOMAS RE EMPLOYEE ON MEDICAL LEAVE STILL IN POSSESSION OF DISTRICT PROPERTY	0.10 hrs @ 150	/hr	15.00
06 14 2	021 GC	EXCHANGE CORRESPONDENCE WITH DR. SHELBURNE RE MEETING PREPARATION	0.20 hrs @ 150	/hr	30.00
06 14 2	021 GC	REVIEW EMAIL AND MATERIALS FORWARDED BY DR. SHELBURNE IN PREPARATION FOR BOARD MEETING	0.20 hrs @ 150	/hr	30.00
06 14 2	021 GC	APPEAR FOR BOARD MEETING (CANCELLED DUE TO LACK OF QUORUM)	0.10 hrs @ 150	/hr	15.00
06 14 2	021 GC	TRAVEL TO/FROM SCES FOR BOARD MEETING	1.50 hrs @ 150	/hr	225.00
06 15 2	021 GC	REVIEW EMAIL FROM D. THOMAS RE PERSONNEL MATTER	0.10 hrs @ 150	/hr	15.00
06 15 2	021 GC	PREPARE CORRESPONDENCE TO LITIGATION ATTORNEYS RE STATUS UPDATE	0.10 hrs @ 150	/hr	15.00
06 21 2	021 GC	TELE. CALL FROM DR. SHELBURNE RE MEETING PREPARATION	0.40 hrs @ 150	/hr	60.00
06 21 2	021 GC	REVIEW EMAIL FROM ACTING SUPT. ABELL RE CONTRACT MATTER	0.10 hrs @ 150	/hr	15.00
06 22 2	021 GC	REVIEW CORRESPONDENCE FROM TEACHER TO BOARD CHAIR SHELBURNE	0.10 hrs @ 150	/hr	15.00
06 22 20	021 GC	TRAVEL TO/FROM SCES FOR BOARD WORK SESSION	1.50 hrs @ 150	/hr	225.00
06 22 20	021 GC	ATTEND WORK SESSION	3.80 hrs @ 150	/hr	570.00

S00020 - 00001			Ŭ
	AND JACKSON RE STATUS OF DISCOVERY		
06 29 2021 GC	REVIEW NOTES FROM INTERVIEW WITH S. RUCKER IN PREPARATION FOR PHONE CALL	0.20 hrs @ 150	/hr 30.00
06 29 2021 GC	TELE. CALL FROM PRINCIPAL RUCKER RE DISCOVERY RESPONSES	0.30 hrs @ 150	/hr 45.00
06 29 2021 GC	REVIEW APPLICABLE STATUTE AND PREPARE EMAIL TO BOARD MEMBERS AND ACTING SUPT. ABELL RE USE OF SCHOOL PROPERTY AS VOTING LOCATION	0.30 hrs @ 150	/hr 45.00
06 29 2021 GC	REVIEW CORRESPONDENCE FROM ATTY. CASSIDY RE S. FORD LITIGATION AND REVIEW MOTION TO COMPEL	0.30 hrs @ 150	/hr 45.00
06 30 2021 GC	EXCHANGE CORRESPONDENCE WITH ATTY. JACKSON RE DISCOVERY RESPONSES AND PRODUCTION OF DOCUMENTS	0.50 hrs @ 150	/hr 75.00
06 30 2021 GC	BEGIN REVIEWING DOCUMENT PRODUCTION AND PRIVILEGE LOG FROM ATTORNEYS OWSLEY AND JACKSON	1.20 hrs @ 150	/hr 180.00
06 30 2021 GC	EXCHANGE CORRESPONDENCE WITH D. THOMAS RE PLACEMENT OF EMPLOYEE RETURNING FROM PROFESSIONAL LEAVE	0.30 hrs @ 150	/hr 45.00
	Total Pr	ofessional Services:	4,230.00

BILL SUMMARY

TOTAL PROFESSIONAL SERVICES	\$4,230.00		
TOTAL CURRENT CHARGES	\$4,230,00		